



$$\frac{a}{1}$$

$$f(a) = \begin{cases} \frac{a^2 - 4}{a - 2} & a > 2 \\ 12a - 2 & a \leq 2 \end{cases} \quad (1)$$

۶، ۵

$$f(a) = \frac{(a-2)(a+2)}{a-2} = a+2$$

$a^2 - 4 \neq 12a - 2$
 $a \in (-\infty, +\infty)$

برای $a = 2$ باید ببینیم

$$f(a) = a + 2$$

$$f(a) = 12a - 2$$

$$\Rightarrow a + 2 = 12a - 2 \Rightarrow$$

$$a = 2$$

\Rightarrow

$$a > 2 \Rightarrow f(a) = a + 2 = 2 + 2 = 4$$

(۴ و ∞)

$$(-\infty و ۴) \quad \Leftarrow a \leq 2$$

$$\underline{a = 2}$$

r

$$f(x) = px + k$$

(r)

$$f^{-1}(r) = g$$

9

$$k = 1.$$

$$(f \circ f)^{-1}(r) = k$$

$$(ii) f(x) = 11$$

$$f^{-1}(k) = ?$$

$$\therefore f(f(x)) = 9x - 5.$$

$$f(r) = ?$$

$$f(f(r)) = r \Rightarrow px + k + k = r + k$$

$$f(r) = r + k$$

$$f(r + k) = r$$

$$f(f(r)) = f(r + k) = r$$

$$p(r + k) + k = r$$

$$pr + pk + k = r$$

$$pr + rk = r$$

$$rk = -pr$$

$$k = \frac{-pr}{r} = -\frac{pr}{r}$$

$$f(r) = pr - \frac{pr}{r} = \frac{pr(r-1)}{r}$$

$$\frac{\mu}{\mu} f^{-1}(a) \Rightarrow y = \mu a + k$$

$$-\mu a = k - y \Rightarrow$$

$$a = \frac{-k + y}{\mu} \Rightarrow a = \frac{y - k}{\mu} \Rightarrow$$

$$f^{-1}(a) = \frac{a - k}{\mu} = \frac{a - \left(\frac{-14}{\mu}\right)}{\mu} =$$

$$\frac{a + \frac{14}{\mu}}{\mu} = \frac{\mu a + 14}{\mu} = \frac{1 + 14}{2} = \frac{15}{2}$$

$$f^{-1}(k) = \frac{15}{2}$$

? $f(x) = \frac{ax}{a-1}$ $A(k, \alpha)$ (μ)

$$y = \frac{ax}{a-1} \Rightarrow ya - y = ax \Rightarrow$$

$$ya - ax = y$$

$$a(y - x) = y$$

$$a = \frac{y}{y-x} = \cancel{\mu a} \cancel{a}$$

$$\frac{a(y)}{y-a}$$

$$y = \frac{a}{a-a} \Rightarrow a = \frac{\mu a}{\mu a - a} \Rightarrow \mu a - a = \mu a$$

(1, 14)

$$\frac{-1}{K} \quad 2a^2 - a^2 = 2a \Rightarrow$$

$$2a^2 - 2a - a^2 = 0 \Rightarrow$$

$$a^2 - 2a = 0 \Rightarrow a(a-2) = 0 \Rightarrow$$

$$a = 0 \quad \times$$

$$a - 2 = 0 \Rightarrow a = 2 \quad \checkmark$$

$$f = \left\{ (3, 5), (4, 6), (5, 7), (9, 7) \right\} \quad \left\{ K \right.$$

$$g = \left\{ (3, 2), (1, 4), (9, 5) \right\}$$

$$f^{-1} = \left\{ (5, 3), (6, 4), (7, 5), (7, 9) \right\} \quad (5)$$

$$g^{-1} = \left\{ (2, 3), (4, 1), (5, 9) \right\}$$

$$a) f \circ f^{-1}$$

$$= \left\{ (5, 5), (6, 6), (7, 7), (7, 9) \right\}$$

$$b) f^{-1} \circ f$$

$$= \left\{ (3, 3), (4, 4), (5, 5), (9, 9) \right\}$$

$$c) f \circ g^{-1} = \left\{ (2, 5), (5, 4) \right\}$$

$$d) g^{-1} \circ f = \left\{ (3, 9), (6, 9), (9, 1) \right\}$$

$$f = \{ (2, 4), (4, 1), (7, 0) \} \quad (a)$$

$$g = \{ (2, 1), (4, 3), (7, 2) \} \quad (b)$$

$$h = \{ (1, 2), (3, 4), (4, 1), (2, 1) \}$$

$$g^{-1} = \{ (1, 2), (3, 4), (2, 1) \}$$

$$\left\{ \left(1, \frac{1}{2}\right), \left(3, \frac{1}{4}\right) \right\} \leftarrow h$$

$$\frac{h}{f \circ g^{-1}} = ?$$

$$\sim \{ (1, 4), (3, 1), (2, 0) \} \stackrel{\text{و افض}}{=} \{ (4, 1), (1, 3), (0, 2) \}$$

$$\text{ho}(f \circ g^{-1})^{-1} = \{ (4, 1), (1, 3), (0, 2) \}$$